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; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 0.00 ~ 4.59 57.18 | =hst | 0oo ~ 0.00| 1.59 8.02 ZznLst 1.00 | 5.00 ~ 5.00 57.18 | =S | 5,00 ~ 5.00)| 1.69 8.02
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 | 0.00 ~ 6.06 75.97 | =LY | 000 ~ 0.00)| 1.61 815 znLst 1.00 | 5.00 ~ 7.30 76.97 | FnRS | 6,00 ~ 7.30 | 1.61 815
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 |1 0.00 ~ 6.43 80.89 | =hst | 0oo ~ 000|172 8.68 znLst 1.00 | 6.00 ~ 7.60 80.89 | #nst | 5,00 ~ 7.60)1.72 8.68
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 | 000 ~ 6.43 80.89 | =hst | 0oo ~ 000|172 8.67 znLst 1.00 | 5.00 ~ 7.60 80.89 | =nst | 5,00 ~ 7.60)1.72 8.67
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 |1 0.00 ~ 5.90 73.90 | #nLsY | 000 ~ 0.00)1.70 8.68 znLst 1.00 | 5.00 ~ 6.70 73.90 | FnRS | 6,00 ~ 6.70 | 1.70 8.68
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%# %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 | 0.00 ~ 5.59 69.79 | =LY | 000 ~ 0.00)|1.57 7.94 ZznLst 1.00 | 5.00 ~ 6.70 69.79 | FhLS | 65,00 ~ 6.70 | 1.67 7.94
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/MiZ#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 0.00 ~ 5.94 74.839 | =0 | 000 ~ 0.00)] 1.62 821 znLst 1.00 | 5.00 ~ 7.00 74.39 | FnLS | 6,00 ~ 7.00|1.62 821
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/MiZ#Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 1 0.00 ~ 647 68.25 | =N | 000 ~ 0.00)|1.57 7.93 ZznLst 1.00 | 5.00 ~ 6.50 68.25 | EnS | 6,00 ~ 6.60 | 1.67 7.93
9 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 5.18 64.60 | =LY | 000 ~ 0.00)| 1.59 8.02 ZznLst 1.00 | 5.00 ~ 5.90 64.60 | =hS | 6,00 ~ 5.90 | 1.69 8.02
10 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z# %% — - ~ — — |3mZE#BZ 3 - ~ — — -
znLs 1.00 1 000 ~ 467 58.19 | =hst | 0oo ~ 000|162 818 znLst 1.00 | 5.00 ~ 5.00 5819 | #nst | 5,00 ~ 500 1.62 818
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zh s ~ ZnLst ~ Zh s ~ ZnList ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh LS ~ ZhLst ~ Zh s ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zh LS ~ ZhLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh LS ~ ZhLst ~ Zh LS ~ ZhnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
zhLst ~ st ~ ZzhLst ~ st ~
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